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47
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R2

50

R2
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R10

150

R10

150

V5

FREQ = 50
VAMPL = {160*1.41}

M

V5

FREQ = 50
VAMPL = {160*1.41}

M

R11

112k

R11

112k

R18

47

R18

47

V1

FREQ = 50
VAMPL = {6.3*1.41}

V1

FREQ = 50
VAMPL = {6.3*1.41}

R9

150
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150

V7

FREQ = 50

VAMPL = {2.5*1.41}
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FREQ = 50

VAMPL = {2.5*1.41}
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180k

R17

180k

V4

FREQ = 50
VAMPL = {2.5*1.41}

K J

V4

FREQ = 50
VAMPL = {2.5*1.41}

K J

C3

2.7n

C3

2.7n

V2
FREQ = 50
VAMPL = {2.5*1.41}
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P

V2
FREQ = 50
VAMPL = {2.5*1.41}
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FREQ = 50
VAMPL = {170*1.41}

T

R

V10

FREQ = 50
VAMPL = {170*1.41}
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C1

50u

C1

50u

V6

FREQ = 50

VAMPL = {160*1.41}

N O

V6

FREQ = 50

VAMPL = {160*1.41}
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15k
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233233

V8

FREQ = 50

VAMPL = {2.5*1.41}
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FREQ = 50

VAMPL = {2.5*1.41}
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680

R19

680

V9 FREQ = 50
VAMPL = {170*1.41}

U

V

V9 FREQ = 50
VAMPL = {170*1.41}

U

V

V3

FREQ = 50
VAMPL = {2.5*1.41}

L
V3

FREQ = 50
VAMPL = {2.5*1.41}
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